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                                   Roll No. ………………………….      

 
EEC-06 

BA-10 (Part-3) Examination – 2012 
(Old Course) 

Pattern of Economic Development: A Comparative Study 

आ�थ�क �वकास का � व�प: तुलना� मक अ� ययन  

            
Time: 3 Hours            Maximum Marks: 70 
 
Note: The questions paper is divided into three section A,B and C. 

नोट:यह �� नप� क, ख और ग तीन ख� ड� म� �वभािजत हैा �� येक ख� ड के 

�नदेशानुसार �� न� का उ� तर द�A    
                                                        

                                         SECTION – A /  भाग- क 

                        (Long-answer - type questions) / (द�घ� उ�तर�य ��न)  
Note: Section ‘A’ contains four (04) long-answer-type questions of twenty (20) 
marks each.  

Learners are required to answer two (02) questions only.           (2x20=40)     

 नोट :भाग 'क' म� चार (04) द$घ& उ�तर$य ��न 'दये गये है  ��येक ��न के (लए 

प+,ह अंक �नधा&.रत है, �श�ा�थ�य	 को इनम� से केवल दो ��न	 के उ�तर देने है।  

1- rksdwxkok dky esa tkiku dh lkektkfFkZd lajpuk dk o.kZu dhft;sA 

Discuss the socio-economic structure of Japan during Tokugava period. 
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2- Je cgqy vFkZO;oLFkk esa vkfFkZd lao`f) ds fy;s leqfpr fl)kUr dk o.kZu 

dhft;sA iw¡th cgqy vFkZO;oLFkk ls blds vUrj dks Li"V dhft;sA 

Describe a proper theory for labour intense economics growth. How capital 

intensive economics are different to it. 

3- çfr}a}h jk"Vªksa ds mn; ds QyLo:i baXyS.M dh vkfFkZd leL;kvksa dk mYys[k 

dhft;sA 

Describe the economic problems emerged due to rise of rival nations of England. 

4- iw¡thokn ,oa lektokn esa eq[; vUrj D;k gS\ Hkkjr ds fy, dkSu lh O;oLFkk 

mi;qDr gS \ 

What are the differences between capitalism and socialism? Which economic 

system is suitable for India? 

SECTION – B/ भाग ख 

(Short – answer – type questions) / लघु उ�तर�य ��न 

Note: Section ‘B’ contains eight (08) short- answer type questions of five (05) 
marks each.  

Learners are required to answer four (04) questions only. Answers of these 
questions must be restricted to two hundred fifty (250) words approximately.                                                 
(4x5=20)                                                                                                                              
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नोट :भाग 'ख ' म� आठ (08) लघु mRrjh; iz”u  'दये गये है  ��येक ��न के (लए 

पांच अंक �नधा&.रत है, �श�ा�थ�य	 को इनम� से केवल चार ��न	 के उ�तर देने है। 

��येक ��न का उ�तर दो सो पचास (250) श1द� से अ3धक नह$ ंहोना चा'हए।                         

 

Briefly discuss any four (04) of the following; 

 �न7न म� से �क�ह�ं चार (04) ��न	 के उ�तर देने है । 

1-    dSph ladV fdls dgrs gS\ 

What is known as scissors crisis? 

2- fczVsu dh Ñf"k ØkfUr dh eq[; fo'ks"krkvksa dk mYys[k dhft;sA 

 Mention the important features of agricultural revolution in 

Britain. 

3- fodkl ds ekDlZoknh pj.kksa dk mYys[k dhft;sA 

 Mention the Marxian stages of development. 

4-  Lo.kZeku ij laf{kIr fVIi.kh fyf[k;sA 

 Write a short note on the Gold standard. 

5- çFke fo'o ;q) ds iwoZ tkiku esa lwrh oL= m|ksx ds fodkl dk o.kZu dhft;sA 

 Describe the growth of cotton textile industry in Japan before 

the first world war.  

6- iwath dk fu;kZr mifuos”k dky dh nsu gSA bl dFku dk o.kZu dhft,A 
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  The export of capital is the outcome of colonial rule. Describe 

this statement. 

7.    lu~ 1860&1917 ds chp :l ds vkfFkZd fodkl dk o.kZu dhft,A 

  Describe the economic development of Russia between 1860 

and 1917. 

8.   vkFkZj yqbl ds çfreku dh O;k[;k dhft,A       

  Explain the Arthur Lewis Model. 

SECTION – C/ खडं ग 

(Objective – type questions) / व�तु�न�ठ ��न 

Note: Section ‘C’ contains ten (10) objectives –type questions of one (01) mark 
each. All the questions of this section are compulsory.                            (10*1=10)                                                      

नोट :भाग 'ग' म� दस (10) व8तु�न9ठ iz”u  'दये गये है  ��येक ��न के (लए एक  

अकं �नधा&.रत है | इस खडं के सभी ��न अ"नवाय� है |                                  

 Indicate whether the following are true or false; 

इं3गत कर� :क �न7न(ल;खत सह$ है या गलत |  

1 जापान म� बडे िकसान को िजनशूी कहते ह ैA   
In Japan the Big farmers are Jinushi. 

 

2  fo”o egkeanh dk izkjEHk flracj] 1929 ls gqvk  |   
    The World's Great Depression was begun in September 1929.   

 

3 :lh d`f’k dh nh/kZdkyhu o`f) teZuh ls vf/kd jghA  
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     Russian agriculture is a long-term growth than Germany.   
 

4  Je dh vlhfer iwfrZ fl}kar ysfol us fn;kA  

     Unlimited supply of the labor theory given by Lewis.  

 

 
5      vkBosa n”kd esa uo ijaijkoknh vFkZfparu dk fodkl gqvk  |   
    Neo-traditional School of Economics was developed in eighth decade. 

 
Indicate the correct answer-option; 

उ�तर के �लए सह� �वक�प का चुनाव क िजए ; 

6  tkiku esa jsyksa dk jk’Vªh;dj.k gqvkA 
      Railways nationalized in Japan occured. 

       A.1905 B.1906 C.1907 D.1908 

 

7   dSph ladV dgkW gqvk Fkk& 

     Where was the Scicessor’s crisis. 
      A.tkiku(Japan) B.:l(Russia) C.baXyS.M(England) D.Hkkjr (India) 
 
8   n LVstst vkWQ bDuksfed xzksFk iqLrd ds  ys[kd gSA 

       The author of the book The stages of Economic Growth. 
        A.jksLrkso(Rostows)  B.ts- vkj fgDl (J.R.Hicks) C.dhUl (Keynes) 

       D.ek”kZy (Marshall)  
 

9  vk/kqfud vkfFkZd laòf) dk vkjEHk gqvkA 

        Begun modern economic growth .  
        A.tkiku(Japan) B.:l(Russia) C.baXyS.M(England) D.Hkkjr (India) 
 
10  lkekftd }sSrokn dh vo/kkj.kk nhA 

       The concept of social dualism given by- 
     A.ts],p-cksbd (J.H.Boik) B.yqbl (Lewis) C.dhUl (Keynes) D.ek”kZy (Marshall)  


